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QUESTION 1

You execute the following statement: 

This statement is an example of a/an: 

A. Subquery 

B. Union 

C. Outer join 

D. Cartesian product 

Correct Answer: A 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

Use the ALTER statement to add a new table in a database. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct. 

A. No change is needed 

B. UPDATE 

C. INSERT 

D. CREATE 

Correct Answer: D 

 

QUESTION 3

You need to combine the results of two queries into a single result that contains all of the rows from both queries. Which
Structured Query Language (SQL) statement should you use? 

A. TRUNCATE 

B. JOIN 
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C. EXCEPT 

D. UNION 

Correct Answer: D 

 

QUESTION 4

In SQL, an insert statement is used to add a: 

A. User to a database. 

B. Row of data to a table. 

C. Table to a database. 

D. Column to a table definition. 

Correct Answer: B 

 

QUESTION 5

You execute the following statement: 

SELECT EmployeeID, FirstName, DepartmentName FROM Employee, Department 

This type of operation is called a/an: 

A. Intersection 

B. Outer join 

C. Equi-join 

D. Cartesian product 

Correct Answer: D 
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